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5.8 Volume_

Volume: The amount of space that an object occupies, measured
in cubic units.
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How many Pyramids fit into a prism with the same base and height?

height

DEMO- beads for volume

https://www.youtube.com/watch?v=0UDjY6vJ8pw

Square Pyramid

Summary:

The volume of a Cube with the same base and height is 3x the volume of a
pyramid.

The volume of a pyramid with the same base and height is 1/3 the volume of
a cube.

NOTE: As long as the base and the height is the same this holds true.
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Pyramid: A solid with a base that is a polygon and faces are triangles
W|th a common vertex The lateral faces are triangles.

Prism: A solid that has two congruent and parallel faces.
The lateral faces are rectangles.
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area of base x height

Volume = base area x height
Volume = 3

Ex. 1 Find the volume of the pyramid with the same base and height as the

following object.
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Ex. 3 Find the volume of the prism
with the same base and height as the

pyramid below.
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Ex.2 Calculate volume of this solid.
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Can you guess how many cones with the same base and height fit into a cylinder?

https://www.youtube.com/watch?v=0ZACAU4SGyM

Summary:

The volume of a cylinder with the same base and height is 3x the volume of a
cone.

The volume of a cone with the same base and height is 1/3 the volume of a
cylinder.
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Ex. 4 Calculate the capacity of the soup can.

:ﬂ(%> vV =h E'\“ — = d=6(m
=314 Q) :322(23 e “

T ¥ 9em? r=3em
2
V=T L
Ex. 5 a) Calculate the volume of the cone to the nearest cm?. - (33 (g>
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b) What is the volume of a cylinder with the same base and height?
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Ex 6 Determine the volume of a cone that just fits inside this cylinder
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Ex. 7 A cylinder has a volume of 263.9 cm? and a base radius of 6 cm.
What is the cylinder's height?
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